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Run 5079 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—
Entrie=: 56634
Mean: 16.5732 «/- 000491
Sid Dhey: 21552+~ D.0DGS

=== Lager OFF ---
Enirie=: 431059
Mean: 50498 +- 0.06017
Sid Dhey: 03534 - 000072

Run 5079 quartetwize, Diffs)

=== Laser O -—
Entries: 56634
Mean: 06401 «- 0.0035
Sid Dhey: 0UB280 - 00025

=== Laser OFF ---
Eniries: 43059
Mean: 00021 +~ 0.0016
Sid Dhey: 03277 - 00071

Run 5079 quartetwise, Asyms(

=== Laser ON -—
Entries: 55634
Mean: 31.3661 - 01722
Sid Dev: 406175 4~ L1216

=== Laser OFF ---
Eniries: 431059
Mean: 01079 «- 0.07 74
Sid Deyv: 160555 +/- 0L0&4T

E_IIII|IIII|IIII|IIII|IIII|IIII|

Run 5072 quartetwize, NegHalAcc/NSamplas0
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el Entries: 56614
— Mean: 169330 +/- 00086
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[ Sid Dhew: 03564 o= 0.0012
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Run 5079 quartetwize, Sums0
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3000 — Entries: 55634
— Mean: 32,5082 «- 00174
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Run 5079 quartetwise, PosHelAccd

Run 5073 quartetwize, NegHalAcc4
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— Lasar O —
frlnen: 32EH
Main: IETITE5 18T - ITHZ T8

=25 Dwre: BATIEED MBS &1 TR BE]T

— Lassar OFF —
frlnes: SR
Masn: 2FTIHH SIED - 0745
S Dre: J30TE D00 +/- 1280915

Run 5079 quartetwise, Diffgd
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frinen: 33EH
Main: JETIESLEENY - IEHIT.15EB
S Dire: SO0 1TH.HEED &0 TR RAEE

— Lussar OFF —
Erlnes: SR
Main: 2TEMES 102 «- T 1LE18
S (Dnire: T35 TE IS0 45 T2 TILETES
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Run 5079 quartetwizse, Sumsd

— Lasar O —

tnlne: 33EH
Maan: 20077098 3000 & IS4 L 1ETE
Sd (Oire: 24E1273 4481 =0 7164445

— L OFF —
trlnes: SHOE
Maan: 435215 « - 1241V
0d Dwre: SETEFLT24E +- 1667 1E
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Run 5078 quartetwise, Asymsd
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— Lumar OFF —
trlnen: SHOE
Miaan: 338046 48] = - MELTE2
S0d Dire: 31295 B0EE +- T74E =4S
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=== Laser ON -—
Entries: 55634
Mean: 314825 /- 01634
Sid Dev: 305473 4~ L1166

=== Laser OFF ---
Eniries: 431059
Mean: 00710 +- 0.0368
Sid Drey: T.EE20 4~ 00250
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Run 5073 quartetwise, Asyms LIShg1 Run 507% quartetwise, Asyms LISbg2

- N === Laser O -— — _ === Laser O -—-
— Entries: 55634 500t — Entries: 55634
— Mean: -0.06001 «- L0016 — Mean: 000020 +- (D10
spap C— Sid Dey: 03486 = 00070 [ | Sid Dev: 02475 o= 0.0007
— - - Laser OFF -— 4000 — - Laser OFF -—
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Run 5078 quartetwize, Asyms D5Sbg1 Run 5079 quartetwize, Asyms DSbg2
2500 [ --— Laser O -—- — --— Laser OM ---
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— Mean: 0.0015 +/- 0.0005 0at — Mean: 00011 +/- 0.0004
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Run 5073 quartetwise, Asyms Horiz Finger Run 5079 quartetwise, Asyms Vert Finger
— === Laser ON -— it = _ === Laser O -—-
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Run 5079 quartetwize, posHE vs time
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Run 5079 quartetwize, diffl ve time
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Run 5079 gquartetwize, negHO vs time
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Run 5079 guartetwize, summd vs time
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Run 5079 quartetwize, posH4 vs time
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_ Run 5079 quartetwiza, diff4 vs time
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Run 5079 gquartetwize, UShbg2 ve time

Run 5079 quartetwize, USbg1 ve time
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Run 5073 gquartetwize, DSbg2 ve time

Run 5079 quartetwize, DSbg1 ve time
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Run 5079 quanetwise, horizFing vs tima

Run 5079 quaretwise, variFing vs timea
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